Activity 15 Extra Practice (rectangles, rhombuses, and squares)

Name:

Quadrilateral WXYZ is a rectangle.
Zz Y

Il N
-
w X

1) If ZP = 4x —9 and PY = 2x + 5, find ZX.

ZP=pY ZX=2(zP)

t-A=2x45 | zx =2 (G7)-1)
2x =4

X=77

2) If meZYW =2x — 7 and
mLWYX = 2x + 5, find mzZYw.

ML ZYW +m LW =90°
2x-T+2x+5 =90

Lﬁ‘;fc;'zqo [mizrw=29° I

X=23

m L zywi=2(23) -7
The figure RECT is a rectangle.
¥y

E{12,0)
= X

241

C(2, -2¢&)

3) What are the coordinates of P?

4) What is TE? How does that compare to
RC?
TE=)G2-Co) +(0-C19))*
TE =227+ 9% = /&5 = 35
RC=JE;0) 2y (24-5)°
RC=12(29)" =Jp5 <13J5

[ TESRC |

Date:

Quadrilateral GHIK is a rectangle. Find
each measure if mz1 = 43°,

Gr=—7 H

K J
5) me2 L!‘_7° (Ctoo-'mél>

6)mes 42°  (L1£/3)

7ymea 43 (4&“43244)

oymes Uq° (£2%15)

ymes  AGH° (MLGHmL3+m L4=130°)

10) me7  RG° (méfo*'m47: 130°)

11) In the diagram, ABCD is a rectangle.
DF bisects 2ADC and FG || AD. Complete
this proof that AFGD is a square.

A F B

D G C

It is given that DF bisects a right angle, so
mcADF =___45° . We know that 24 is a
right angle because ABCD is a rectangle,
S0 AAFD is a right triangle. In a right
triangle, the acute angles are
complementary , so meAFD = 45°. That
means AAFD is ah isosceles triangle, and
AF = AD. We know that AFGD is a
pavalleloavam because 4F | DG
(bpposite sidés of a rectangle are parallel)
and AD || FG (Given). We have shown that
AFGD is a parallelogram with a right angle
and two _Consecutive Congruent
Sides ,so_AFCD (S a %cLuare
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12) One student proved that quadrilateral 17) The vertices of quadrilateral MNPQ are
UTAH is a rectangle. Another student M(4,8), N(7,2), P(3,0), and Q(0,6). Show
proved that UTAH is a rhombus. What else that MNPQ is a rectangle.

can you prove about UTAH? Explain. y

UTAH (s o reclangle, So i+ has
all H:c)"n*\’ av\jles. Also, UTRH 5 «
rhombus, so~ it has four Cor\ﬁmar\'\‘
SideS Thevefove, UTAH s a ssuare
b& Yo definiton of a Siuare.

Quadrilateral ABCD is a rhombus. Find
each value or measure.

T

&~

-0 R 765 -4-3-2-

BTy —nu;-t:-’a\vaaa-:
/
—

consecahve sides

ae pevpendicalay
S\ope of AM and PN 1S 7

13) If m2BCD = 114°, find m<BAC. Slopt of Qf and. MN s -2
[mzBAC=57°] = miN = mLP=mlG =900

14) If AP =3x—1 and PC = x + 9, find AC. 18) The vertices of a quadrilateral are
AP=PC AC=PP+PC Q(=3,3), U(2,10), A(7.3), and D(2,—4).

Show that QUAD is a rhombus.

Ix-1=x+9  PC=326)-| +(5)+9 2ot
X=5 N
15) if meABC = 2x—7 and msBCD = 2x + 3, \ ; v,
find mzDAB. LTS :' (1T L.
M LABC +m LBCH =180 ' pmE)
2x=7 +2x+3 =80 SO
Ux =4 =130 /DAB = w/BCD S
Wy =184 " ) CF ;[
k|

cpposite sples are
16) if m£BPC = 5x — 15, find x. EEKQH@\

x5 a0 slope o & and 57 =F
By = 05 SlOPE ot GD and OA = "‘-g—
= the ﬁi}u_'rﬁ__ 1S €qu C l_o.ﬁ"a e
X=2 QU=DA=RAD =DQ = {73




